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1. dfeq #iu (et wmn) e 33 ok 49 4. Tl 3% 1 TF &9 F T 10 cm B @ W
TS GATE 21 % 9 E9T F1 a0 10 s B @l a1 | I aren Sfafew anafys, e
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forat g 27

(@) 5 cm, Af@Ed
(@) T 1650 m
(b) 10 cm, A9EH}
(b) T 3300 m
() 20 cm, HAhmEH
(c) <M 990 m
(d) 20 cm, I9EH
(d) T 1000 m
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2. 9 # S www F1 qi-2ed e e 27 =15 ¥ AR & 7R 27
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1. The time elapsed between viewing a

lightning flash and hearing the thunder
of a cloud is 10 s. If the speeds of
sound and light in air are 330 m/s and
3x108 m/s respectively, how far away
is the storm?

(a) About 1650 m
(b) About 3300 m
(c) About 990 m

(d) About 1000 m

2. What is the approximate wavelength of

violet light in air?

{a) 07 pm

(b) 06 um

() 05 pm

({d) 04 pm

3. Which electromagnetic radiation(s) is/are

used to cook food?

(a) Infrared radiation only

(b) Microwave radiation only

(c) Infrared and microwave radiations

(d) All electromagnetic radiations
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4. An object is placed 10 cm in front of

a lens. The image formed is real,
inverted and of same size as the object.
What is the focal length and nature of
the lens?

(a) 5 cm, converging

(b) 10 cm, diverging

(¢) 20 cm, converging

(d) 20 cm, diverging

5. Which one of the following statements

with regard to a short-sighted person is
correct?

(a) A short-sighted person sees the
near objects blurred but distant
objects clearly and a convex lens
is used to correct this defect.

(b) A short-sighted person sees the
near objects clearly but distant
objects blurred and a concave lens
is used to correct this defect.

(c) A short-sighted person sees the
near objects blurred but distant
objects clearly and a concave lens
is used to correct this defect.

(d) A short-sighted person sees the
near objects clearly but distant
objects blurred and a convex lens
is used to correct this defect.

[ P.T.O.



6. fefafas # ¥ Fm-w Ffmwm, wh 9. fr=fufad § & Fw-w e 97w s (Frren

Fiftreprat § T S 27 ) @ w7
(@) i e (a) =T

(b) ke sfere (b) T
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Mok * () Fehfoea
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() fh e :
(d e (@) Bt
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6. Which one of the following organelles is

not found in animal cells?

(a) Cell membrane

(b) Endoplasmic reticulum

(c) Cell wall

(d) Lysosome

7. Which one of the following plant tissues

has large air spaces?

(a) Sclerenchyma

(b) Meristem

{c) Collenchyma

(d) Aerenchyma

8. Which one of the following is not a

connective tissue?
(a) Ligament
(b) Tendon

(¢) Smooth muscle

(d) Cartilage
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9. Which one of the following organisms

belongs to the kingdom Monera?

(a) Diatom

(b) Euglena

(c) Anabaena

(d) Ulothrix

10. Which one of the following diseases does

not transmit through fine droplets
coming out from mouth or nose of an
infected person?

(a) Pneumonia

(b) COVID-19

(c) HIV-AIDS

(d) Tuberculosis

11. Which one of the following is not

a breakdown product of glucose during
respiration?

(a) Ethanol
(b) Lactic acid
(c) Water

(d) Methanol

[ P.T.O.



12. Frafafas & @ ¥F-m1 = FwEid sfifem

1 IaTE 87

(a) CaOfs)+ H,0() —» Ca(OH) 2 (aq)

(b) CaCOg4(s) - CaOfs) + CO5(g)

fc) C(s)+0,() — CO,(g)

(d) CH,(g)+20,(g) — CO,(g) +2H,0()

13. we-faw & ¥ = fefafea 4 4 fra e

¥ HmEaE vefed fen s @ oot
faga-1a o9 7 w7

(@) FTe SRATFEES
(b) TEGSH
(c) ATEGISH
(d) AT

14, WHH wRdE SwifFw % ogER, vuew #

FH-R YW 7 e 87

(@) 9=, S, sEF, M e S
(b) a1, geafl, aAfd, s iR W
(c) e, qfn, afy, smwm i si@

(d) =g, gef, st sfy ol e
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15. UF qudErel g9 # N wEn § afEn g fiema

®1598 39 % pH A 71 w27
(@) Wee & & smem

(b) FH& &Tda & smen
(c) VE& Avelig & smem

(d) 3Ea el B smon

16. difezn wRgiane ¥ Ty frefafas § @

FH-1 °Ig-SAFEEE WA SR T
T 87

(@) e sHiFaTEe

(b) T siage
(c) e HTFaTES
(d) e sfiaars

17. & e uig sewfe o F wy il

A 2, N TS v § & il &= el 2
T i B 27

(a) VW AOHH R GEERE A F Y
Hfctem i sl dwa 7€ §

(b) HfufEm 3§ o aren Foaam wekhe v
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sl 0 A U 3 &

(c) AT & 597 a ¥fram T
Torem i ae foreeliga 89 % Ry s
F QN Tt A A B 2

(@) #NGEn & s aen ¥aam gehe
el g &



12. Which one of the following is an example 15. A milkman adds a small amount of
of endothermic reaction? baking soda to milk. This makes the pH
of the milk

(@) CaOf(s)+H,0() - Ca(OH),(aq) (a) strongly alkaline

(b) weakly alkaline
(b) CaCOj4(s) — CaO(s) + CO,(g)

(c) strongly acidic

(c) C(s)+0,(@ — CO, (@) (d) weakly acidic

(d) CH,4(g)+20,(8) — CO, () +2H,0() 16. Which one of .the following metal oxides
does not usually react with sodium
hydroxide?

- (a) Copper oxide

13. Packets of potato chips are usually
flushed with which one of the following
gases to prevent rancidity? (c)

(b) Aluminium oxide
Potassium oxide

(a) Carbon dioxide (d) Calcium oxide

(b) Hydrogen

17. When calcium metal reacts with
(c) Nitrogen sulphuric acid, the reaction stops after
a short while. Why?
(d) Oxygen
(@) The reaction of calcium with
sulphuric acid is not feasible at
room temperature
14. According to early Indian philosophers,

what are the basic elements described (b) Formed calcium sulphate is
in Pancha Tattva ? insoluble in water and covers the

calcium metal, preventing it from
(a) Earth, Fire, Sky, Gas and Water reacting any further

(¢) Formed calcium sulphate requires
two molecules of water to crystallize
as gypsum

(b) Air, Earth, Fire, Sky and Water
fc) Gas, Land, Fire, Sky and Water

(d) Formed calcium sulphate is
(d) Air, Earth, Fire, Land and Water unstable
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18. @ 5id @ W Graa e w A whmw o

1 ofea fFn s R, @ 98 fRogs w@
92F T # fasek @ wran @) Frefefas § 9@
FH-H1 17 Aftrpan Far=em-S a9 27

(a) <
(b) T
fc) &

(d) aft T %1 gue wrEn # e @

19. 7= T3 d woaw <du # g ¥ wfafes =i

mﬁhﬁmw%

f=rferfaa 3 @ wél v Fa-a1 27

(@) 2:35

(b) 3:45

(c) 9:15

(d) 9:25
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20. F=fafaa # & F-w Gy g 7 27

(@ T

(b) Wit @0

(c) gewafa

(d) eH T2

21. 7F <fifee, freh gy 3§ v audy Sw A @

T 1-5 A fe@um varfza @ ®1 10 ms
H 3ol | B waifed B 9 smaw i W
1 Bl Y

(a) 0015 C
(b) 0-15 C
c):1:5C

{d 15 C

22. fafafigs & A SF-w Fdiwoia =0 = 99

7 27
(@) €R
(b) T
(c) iR

(d) -fagq



18. When a white light beam is made to fall 20. Which one among the following is not
on a hollow prism filled with water, a luminous object?
it breaks into seven constituent colours.
Which of the following colours suffers (@) - Sun
the maximum angle of deviation?

(b) Proxima Centauri

(a) Red

(c) Jupiter
(b) Violet

(d) Alpha Centauri
(c) Green

(d) All suffer by equal amount of

o 21. Let an electric current of 1:5 A flow
deviation

through an incandescent lamp in
a circuit. What is the amount of charge
that flows through it in 10 ms?

19. The following figure shows the image of (@ 0015 C
a clock in a plane mirror :

(b) 015 C
¢ 15C

(d 15 C

Which one of the following is the correct
time? 22. Which one among the following is not
a renewable energy source?

e (@) Solar

) 2:45 (b) Wind

(c) 9:15 () Nuclear

(d) 9:25 (d) Hydroelectric
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23. Frafafea # & ®F-w wigha (FRfFa) &
w1 TE R7

(a) & & fa@=A
(b) PR F1 G
(c) HTEIRTESE I TRl

(d) WER FA F THERF FA1 H T

24, H-FfEE b fi e % o R f
Freferfaa # @ FF-T1 F9F T T ?7

(@) T& S MW FA F U gug o i
TaEHal Bt B

(b) wEA & fog gug 3 ) @S T
?

() ¥ Shal grn e Ieee qml 3o
#i St B

(d) A =R AT F HOh H A T R

25. F=ffas # ¥ fra <e 8, @ faa-=5 6
et oft sreen & gty (ARE) T At 27

(a) Bt
(b) TR
(c) T (TFRi)
(d) Hemiet
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26. F=fafea § 4 #¥F-w 7w 76 =9 & gAfem

e 27

(@) UATCHE FHMETEAD]  : TE

(b) ©ATHE qoAgEd  : HW (W)
(c) TETEA-3Tgad ;o AferER
(d) Segadi AN

27. Fefafas 4 @ #FR-H uig adsm, 5@ @

Il & affoean i st 27
(a) Na
(b) Cu
(c) Fe
(d) Au

28. frafaflas & 4 FW-dt ug Haw @

SR TR TEEIH 3o el 7
(@) =@

(b) wfETH

(c) e

(d) @

29. Hrie sRfdage A Yghifem TRe F W™

W =& S e e s R @
sty ¥ gay § frefofes & @ |¥9-m
ECk:

(a) T AR Fenad ad j1
(b) ¥ s Fearadt At R
(c) S 38 w9 #§ Iearfea A R

(@ e, Yghifem 6 gew 7 e
Hiufrarefia 21



23. Which one of the following is not 26. Which one of the following pairs is not
a function of chlorophyll? correctly matched?

() Spiitting ‘ot Stk (a) Positively phototropic: Shoot

(b) Positively geotropic : Root
Ab ti f phot
b) i s s (c) Chemotropic : Pollen tube

(c) Oxidation of carbohydrate (d) Hydrotropic : Flower
(d) Conversion of light energy into

chemical energy 27. Which one of the following metals does
not react with oxygen, water or acids?

(a) Na

24. Which one of the following statements o
about life processes in single-celled (b)

organisms is not correct? (c) Fe

(d) Au

(a) They require separate organ for
food uptake.

28. Which one of the following metals

i fi
(a); Bepesnte  organ ARG SReded Tor produces hydrogen with cold water?

respiration.
(a) Silver
(c) Waste of excretory material is :
produced by these organisms. (b) Sodium
(c) Copper
(d) They remain in contact with
external environment. (d) Iron

29, Manganese is extracted by heating

25. Which one of the following organisms manganese dioxide with aluminium
does not possess notochord at any powder. Which one of the following
stage of its life cycle? statements with regard to the reaction is

correct?

o R (a) The reaction is exothermic.

(bp) Herdmania (b) The reaction is endothermic.
) Biseoktas (c) Manganese is produced as a solid.

(d) Manganese is more reactive than
(d) Salamander aluminium.
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30. Fr=fafaa # @ #F-w oed sad anoft 3 and

B Tl R Y g s @ 3R el ¥ snuw
1 3R FEa S &7

(@) A

(b) TEFA A

(c) Torga-Fcomensran

(d) o 6t frsn

31. I G9ET 9% (Bfem) & 9r & f=fufaa

T ¥ BH-91 HYF FEl TE 87

(@) GEEA Hift B9 % HROT IeATET GHTEA
% g fam & = it R F g aa
R

(b) ey wEEEl 3w WEfeh % fou
faftr awgatt sin Jansit & srem-srem
GAISHI 1 IedTe HTEAT 956 gRT S9N
EicI &

(c) T Wrenfef iR dwmAl % @i
I GWET 9% T 91 Ia% iR
+ff fog v #)

(d) IR GHEAT 9% W, TH 90 F I
1 g I & Iqed § Radq forg faen
AT S Thal B
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32. f&f axg & fou Fa-am A wEn w1 Fuko

¥ for s 27

1. @ 3R ® & sy e wmn &
awa A1 faafargd

2. W IuR W % fFm dm o o =
fame Iuerey B

3. wdaen # oW A 3fE i |WH Imw
ki

4. WA A W IF] F R4 HEW &
YR W

2 g g F2 w1 wEm =W w3 gl
(@ 1,233

(b) Fad 1 3R 4

(0 1,234

(d 33R4

33. ot srelegeeen § yeerdg ir Difgs Aot &

e #, Fr=faflaa % 4 F9-w1 @0 Prers
(wrerifes Rfewmg) F w9 & 1 wta &7

(a) STFFH IR

(b) & 1 wtadi W & (fed W R)
(c) Gl 9K qREeH

(d) =i Fma

34, SHIFHE GHFAY Aisd & A-foiad fFa =m

# 90 3R gy R, I A, AR W FH Bt
&

(@) 3= Rgg=m
(b) RIS foear =
(c) TaHl faEar = .
(d) F= fer =am



30. Which one of the following properties 32. How is the magnitude of price elasticity
decreases across the periodic table from for an individual good determined?
left to right and increases from top to

Bt 1. By the degree to which the good is

a necessity or luxury

2. By the extent to which substitutes

(a) lonization energy are available

3. By the rate of income growth in

(b) Electron affinity the economy

4, By the relative importance of the

(c) Electronegativity good in the consumer’s budget

Select the correct answer using the code

({d) Atomic radius given below.

(@ 1, 2 and 3

31. Which one of the following statements @) .1 sag L amly

about production possibility frontier is (c 1,2 and 4
not correct? (d) 3 and 4
(a) The production possibility frontier
slopes downwards to the right as 33. Which one of the following functions as
the reso{.lrces are limited. an automatic stabilizer in the context
of fiscal and monetary policies of an
economy?
(b) The different combinations of §
various goods and services given (a) Personal income tax
the available resources and (b) Reverse repo rate of bank
technology are denoted by the "
production possibility frontier. (c) Open market operation

(d) Bond price

(c) Any point on or inside the

production possibility frontier is

attainable wunder the existing
technology and resources.

34. Broadly both birth and death rates are
low in which one of the following stages
of demographic transition model?

(d) On the production possibility (o). IR MAtonEE .

frontier, the output of one (b) Early expanding stage

commodity can be increased
without changing the output of
another commodity. (d) Low stationary stage

(c) Late expanding stage

JNMK-F-BGS/67A 13 [PTO.



35. F=fafes § @ FH-w1 9eF ya@ F Dt 40, Fafafan § ¥ fFa Fa-ge ¥ dwm Sifem

FA T R7 &3 7 fm srftrerin oof frefira g weit =1
(@) W gfteamt & fean mn an?
(b) = TG (@) T 2250 $o Yo
(c) ST 51 TR (b) T 2000 $o Yo
(d) = a9
(c) M 1800 Fo Yo
36. SaTETHE! IR BH | saramgEt F il w w1 (d) T 1700 $o Yo
T T H T FES 7
(@) F& () 41. Tt Wi % Tw 0w, weAhw FRE %
(b) Twm IR (F) i A9 97
(c) Tt
(@) T
(d) vaTemgEt e () :
(b) =&
37. wHfEE § frdt wm & Bl safeafy 39 =3 (c) gy
F o Frafofas § 3 frah smavgsa anft?
(d) aHhifd

(a) Fa6 I TH FH AL
(b) HET IW TUH H MR

. . . Wpa uitw A Fafafes el i %
(c) 39 TM & g 3N IR b T Lo
TR 1 B ¥ gafera
(d) 39 T T @ A7, 7 & IJR 27 WY ™
38. WA FI It Fre g0 AT S 27 (@) VWA : FARRGER
(a) =Tt (b) N : gEEhRa
(b) TR RE () Toeem : PzwimEaha
::; e (d) FE™ : FrgEea
39. 7@ wpl #, Iaa:, w@ Fdww A Sl fad 43. 7 wan Aeft A, Frfoafaa 3 @ wam gg 6t
(3fres firder) sraeg & wman @, @ Fferfaa ot (381) gega: fora gsn & sl T §7
H { F-H Ty mEr St R7 (@) A
(a) et TifdeR -
(b) Y (b) q=
(c) =Ehe (c) i TR
(d) HBR (d) I@EA
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35. Which one of the following is a pull factor

for migration?
(a) Natural disaster
(b) High wage

40. Most of the mature Harappan sites in

the region of Cholistan had been
abandoned during

(a) C. 2250 BCE
(c) Housing shortage

(d) Low income (b) C. 2000 BCE

(¢) C. 1800 BCE
36. What is the depression at the top of
a volcano following a volcanic eruption (d) C.:1700 BCE
called?

(@) Chamber 41. Madhyamika Karika, the basic text of

ol Madhyamika School, was composed by
(c) Cinder -
(d) Crater (a) Nagarjuna

(b) Asanga

37. In order to find out the absolute location

of a place on the map, which of the
following will be required?

(a) Latitude of the place alone
(b) Longitude of the place alone
(c) Both latitude and longitude of the

(¢) Vasubandhu
(d) Dharmakirti

42, Which one of the following pairs of

place authors and Sanskrit literary works is
(d) Neither latitude nor longitude of not correctly matched?
the place (a) Somadeva : Kathasaritsagara
38. The speed of the wind is measured by (b) Ashvaghosha : Buddhacharita
s i (c) Bilhana Vikramankadeva-
(b) wind rose charita
Y (d) Kalidasa Vasavadatta

(d) anemometer

39. In the course of a river, in time, which
one of the following features is formed
when the old meander is closed off by

43. In the Mathura School of Art, Buddha’s
images are largely carved in

deposition? (a) Dhyana Mudra
(a) Pothole (b) Abhaya Mudra
(b) Levee

() Oxbow lake (¢) Dharmachakra Mudra

(d) Flood plain (d) Varada Mudra
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44, 99 ey wRfags @ ey fefafes § @

ot g w2

(@) FEdET 3R TR

(b) FHER (FR) 3 A=RH
(c) FHTER (FEW) 3 Feidtam
(d) FAER (FEW) AN SieArerrg

45. il & FreETedl  veam Feafafaa § & B

fordry am @ 6 i 27
(@) "
(b) TH
(c) &4
(@) ¥

46. I <A 6 frefaflea oiwa 4 @

-8 3= T F ot 7w h i R?
(@) weTEERR ufh

(b) AT ¥ UHy wifea B 9= e
# qof =g &= 6wl

(c) wfverE e 6 wiftw

(d) fadm oo wfEeli # TR FE/
AR A H AR

47. WG 1 Gawm, qa AfuEr % w9 7 feafafa

H @ formehl T i S 27

(a) GHA@ H1 AR

(b) T % fowg iR

(c) Gufw =1 AR

(d) AR R FRER FA F AHR
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48. I Y % 91 § Frefefag sa=i § )

FH-|1 T A€ 27

(@ wRd & ®RUR & sg=de 129 3N
FTRE 144 F Hald, F@ed
FgaE & forw 48 3] H wfts I=am
=mared | ffga it it 2

(b) TETERN ARG F I=AH e §
Ffea foren 2

(c) 3R w3 A f st &, A =AW =T,
wfawa qffeyfedt & s sl @ 3 |
SR H THA B

(d) I=H e g uive &Y v ¥
Tsa8F % offR wft AmeEl ¥ o
HEEH B

49, &% <@ wffa & ar & Fr=fofad #ui § @

FH-T1 TE RY :

(@) 3@ Gl ¥ &% 8 ¥ 15 wee 3
T 891 A 10 T6 | 31firh 78 2 £

(b) Tom = wftfa =1 927 we= d R)

(c) Tffd & wew =1 He®w & 9§ &
B 21

(d) T3 @ ¥ wite affs % wew= @
FAEHE, TS G A I Jarige 84 &
GG TG STl B

50. I=AH FAEE & AREE % w9 4 R e

Fora <t waar 27

(@) TFEl sftaem =i, foma Bl =maee
FH-U-F9 29 94 a& fafy sgagm

?
(b) Tt 3= e & =Enfwm w@, S
FH-B-F0 A7 9 7% T @®@
(c) ¥Ra % Ugafa 6l 1@ § e fafte =
(d) Tt =afe =, St F5-3-F9 UgE 99 oF
e (R R



44, The Mauryan capital of Pataliputra has

been associated with the archaeological
remains of

(a) Bulandibagh and Rajagriha
(p) Kumrahar and Mocharim
(c) Kumrahar and Bulandibagh
(d) Kumrahar and Jalalgarh

45. The Satavahanas are identified in the

Puranas by which one of the following
epithets?

(a) Andhras
(b) Shakas
(c) Kshatrapas

(d) Sungas

46. Which one of the following powers of

the Supreme Court is also conferred
on a High Court?

(a) Advisory power

(b) Power of doing complete justice in
any cause or matter pending before
the court

(c) Power of court of record

(d) Power to allow/refuse Special Leave
Petitions

47. The Constitution of India does not

guarantee which one of the following as
a fundamental right?

fa) Right to equality
(b) Right against exploitation
(c) Right to property

(d) Right to carry on trade and
business
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48. Which one of the following statements

about the Supreme Court is not correct?

(a) Under Article 129 and Article 144
of the Constitution of India, the
Supreme Court has been vested
with power to punish for contempt
of court.

(b)) The Supreme Court has been
vested with advisory jurisdiction.

(c) The Supreme Court may refuse to
provide opinion to the President, if
so asked, in certain circumstances.

(d) Law declared by the Supreme
Court is binding on all courts
within the territory of India.

49, Which one of the following statements

about Public Accounts Committee is

. correct?

(a) The Committee consists of not
more than 15 members from the
Lok Sabha and 10 members from
the Rajya Sabha.

(b) The Finance Minister is an ex officio
member of the Committee.

(0 A member of the Committee is
given a term for one year.

(d) The term of the office of the
members of the Committee from
the Rajya Sabha is extended
even when they retire from the
Rajya Sabha.

50. Who can be appointed as a Judge of the

Supreme Court?

(a) An advocate who has practised for
at least ten years in any court

(b) A Judge of a High Court for at least
three years

(c) A distinguished jurist in the
opinion of the President of India

(d) A person who has held a judicial
office for at least fifteen years

[PeX=0.



51. TF ¥ w9 uig ¥ o el @

ToereT=R Tk T ST S R 39 AU e w5
=g fohaan &7

()2 cm
(b) 6 cm
fc) 4 cm

(@ 1cm

52. A ¥R B # WifeF @ F Agaw 7: 10 B

I =9 H A 2: 31 AR A 3 BH
T IF € 1,000 ¥ w18 i w9 w1 B, A B
&1 Wit A w1 Af?

(@) & 9,000
(b) 10,000
c) 15,000

(d) ¥ 12,000

53. A 3R B3 frem el % 1 20 R § @

X EHd 81 B 3R C 3 e gt w5
30 T # U R wHd 81 AR A 3 C I
@ U A igwRewd @A
el T R & 5w % 1 g wam?

(@) 352fA
(b) 371f
(c) 342fFa

(d) 332f=
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54. UF U3 F09H § 9 §2 &1 #1 AR a7 weE O

S F91E F 1 wm A R A 7@ }, @ =
T4 91 U ) S et Bnfi?

(@) 122
(b) 12:34 2
) 1332
(d) 13-10 §2

55. IR et o # ween A Ew R, @ st @

1 vgelt walt 1 FE-a R gme
(@) HAR

(b) HEAR

(c) WIHER

(d) HHER

56. Fr=fufiaa wui # A FF-w wd 7 27

(a) & Sferaeen & gfg # o Iuh gwm A
i ), @ S = A i A R

(b) & FB faow axgedt it @it § gieds
BT A WERE  (HAEE) F FRw
dewfEl (SE) wEm @ S §, @
AT USATR F1 o Bl B

() FdaRyr # W % gfomwEsy SFHE
FT B B

(d) T AR hi fufy 3 oifte A =
THEAHS B B



51. Eight metallic balls of one centimetre

radius each are melted into one ball.
The diameter of the new ball is

(a) 2 cm
(b) 6 cm
fc) 4 cm

(d 1cm

52. The ratio of monthly incomes of A and B

is 7:10. The ratio of their expenditures
is 2: 3. If each of A and B saves ¥ 1,000
per month, then what will be the
monthly income of B?

(@ ©9,000
(b) ©10,000
() €15,000

(d) ®12,000

53. A and B together can finish a job in

20 days. B and C together can finish
the same job in 30 days. If A and C
together can finish it in 24 days, in how
many days can A alone finish the job?

(@) 35% days
(b) 371 days
(c) 342 days

(d) 332 days
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56. Which one

54, A tree is at present 9 feet tall. If every

year it grows Jth of its height, what
will be the height of the tree after

~ three years?

(a) 12 feet
(b) 12:34 feet
(c) 13 feet

(d) 13-10 feet

85. If first March of a year is Sunday, which

day will be the first February of the
next year?

(a) Friday
(b) Tuesday
(c) Saturday

(d) Monday

among the
statements is not correct?

following

(@) When the economy grows slowly
than its potential, the
unemployment rate rises.

(b) Structural employment occurs
when jobs are eliminated by
changes in demand for particular
goods or due to automation.

(c) Recession in the economy leads to
cyclical unemployment.

(d) At full employment, the measured
unemployment rate is negative.

[ P.T.O.



57. 3 HEl F W FEd &, R aafs 9wd 59. =¥ 2009-10 ¥ 2018-19 ¥ fyu wwa aftfq

e 3G UG TR, Gobel We] IR F A (Sfto =flo To) ¥ HaX-an oed 77 <whd
o TR TR Y A 8 S 27 & T v # 1 96 3§ o o wo F Fa1 Agw

+ ol d of @ R PefiRes & 4 el
(@) W s Hferpan gfg gf 27

(@ Toga, M\, semgfd =ik s= swifm
(b) FEERR staa Hard

(b) SR, BIed, e, TR IR TGRO §
(c) 3T JH waferg Jamd
(d) =i R = (c) e TR, TN SR 3 Yand

(d) Tofa, TR H@uE (SfR-smERR) el

raETes dand

58. Tt ofi <fist A g1 F w9 F W Resw ¥ '
fere, set feferfm 3 & 2w frdwand 26 60. AR AR ¥ suR W, s ) g

=fee? TR & HFel # fofsa fen sman 27
1.;ﬁ§mu&mﬁmﬁﬁ:mﬁm o) R oS A

2. INd 3ga FA F e A T (b) Fft 3iR A dF

3. W'ﬁﬂmﬁﬁ‘ﬂﬁﬁ@mm (c) et 3 y=u9 T9

56 SRS S S e (d) i, s iR gds dv

ﬁmm?meWWﬁl
61. Ffafad & ¥ FF-w Tt s =

(@ 1,234 YR TE 87
(b) Fad 2 R 3 @ S

(b) < forea 9fg
(¢ 1,23R3

(c) A-3qEe
(d) 1, 3 3R 4 (d) FTeeeRT
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57. The amount by which the equilibrium
level of real GDP exceeds the full
employment level of GDP is called

(a) recessionary gap

(b) inflationary gap

(¢) income multiplier

(d) automatic stabilizer

58. For anything to be recognized as money,
it needs to have which of the following
characteristics?

1. Act as an intermediate in the
exchange process

2. Standard unit for quoting prices
3. Must be easily divisible

4, Have higher value in alternative
uses

Select the correct answer using the code
given below.

(@ 1,2 and 4

(b) 2 and 3 only

() 1,2 and 3

(d 1, 3 and 4
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59, The sectoral shares of Gross Value Added
(GVA) for the year 2009-10 to 2018-19
show that the share of service sector
in GVA in India has increased over the
years. Which among the following have
driven the maximum increase?

(a)

(b)

(c)

(@)

Electricity, gas, water supply and
other utility services

Trade, hotel, transport,
communication and services
related to broadcasting

Public administration, defence and
other services

Financial, real estate and
professional services

60. On the basis of employment conditions,
the economy is divided into

(a)
(b)
(c)
(d)

organized and unorganized sectors
private and public sectors
seasonal and disguised sectors

primary, secondary and tertiary
sectors

61. Which one of the following is not a
type of chemical weathering?

(@)
(b)
(c)
(d)

Carbonation solution
Salt crystal growth
Hydrolysis

Oxidation

[P.T.0.



62. TH-1 I §HA-1I ¥ Wy gafm Hifg ik

gt % 49 Ry T g w1 o W wd s
kAL
qet-1 =11

(afer wea) (Fwr/wEmfia)
A T 1. =g amfe
B. T=ifirmm 2. & anfiE
C. gt 3. ¥4
D. @& 4. ISR
e :
i A B BB

3 et
&) A % B 0 D

Bac W2 . 1
jor- K. BT C il

A wre Rl
(d) KB 5Qa P

O S P SRR

63. WRA ¥ U WM 91 W AT h J&I TER

Frafafaa 4 @ #9-3 &7

BRI

ierge

ferimmge

otz

= Ry g 2 w1 Em = wd W ghg
(@) Faa 132

(b) Faw 2 3R 4

(¢ 1,234

PN

(d 133
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64. ATEA HeiayH Rd Fal g 27

(a) Team=e wem
(b) JTEE
(c) fafem

(d) ST Yo

65. Fr=fafa s w e $ifvg .

1. YRy ¥ fr@ & udiws @ ok =R
Tt # geasg TE R i e el
7 FEd g gE W e
oA € )

2. TR M A wOEw dFEd smafas
F &l e F [HIAE W w2
F1 W fFa R 3% 76 =R 9@ 9@
wfafafet g wudia forn stman o)

I FoEl A BH-w/A T R/
(@ Fad 1

(b) a2

(¢) 1 3R 23

(d Fd1ATH 2

66. Fga HHR ga ®9 & IR-ufeh ) Rg % fra

gear 1 giadl A e 2 6 d=d |
gfg #i?

(a) <&
(b) IeEE faesh

(c) TER Teh
(d) TRt geE



62. Match List-l1 with List-II and select the
correct answer using the code given
below the Lists :

List-I List-II
(Fold Mountain) (Country/ Continent)
A. Ural 1. South America
B. Appalachians 2. South Africa
C. Drakensberg 3. Russia
D. Andes 4. North America
Code :
e e R T
3 2 4 1
(b) A B C D
3 -+ 2 1
-A - B G D
1 4 2 3
(d A B C D
1 2 4 3

63. Which of the following main types of iron
ores are found in India?

1. Haematite
2. Magnetite

3. Limonite

4. Siderite

Select the correct answer using the code
given below.

(@ 1 and 2 only

(b) 2 and 4 only

() 1,2and4

({d 1and 3

JNMK-F-BGS/67A 23

64. Where is Asan Conservation Reserve

located?

(a) Himachal Pradesh
(b) Uttarakhand

(c) Sikkim

(d) Arunachal Pradesh

65. Consider the following statements :

1. The early Sikh Gurus were religious
preachers and did not interfere in
politics but Guru Arjan extended
his good wishes for the rebel prince
Khusrau.

2. Guru Arjan attempted to organize
the finances by introducing the
system of more or less compulsory
‘spiritual tribute’ to be collected by
his agents called Masands.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

66. Qutb Minar was originally four-storied.

Who among the following Delhi Sultans
raised the height to the structure by
adding the fifth storey?

(a) Balban

(b) Alauddin Khalji

(¢) Muhammad Tughlaq
(d) Firoz Shah Tughlaq

[ P.T.O.



67. THA Headd 3R 9% Haftd &9 % Frfefag o

A FH-W 7w Td w9 ¥ gAfera T 27
(@) s wd R

(b) =l WA | G

(c) FIA A el

(d) ¥ e ;R

68. Fr=feflad ol w =R fif .

1. e % WEA F, 994 ¥ 39y 7% §ga
g &% & W worrel! @) T

2. Rl TR ¥ IW wRa # FgA g
% IAd WTsd WU HHSR 92 |

ITE FUAl A PH-91/3 wEd /A0
(@) Faa 1

(b) e 2

(c) 1 3R 23H

(d @ 1IRNAH2

69. T ¥ fFem o wEAIPEl Y w=a fen T

Hiaum w1 ISt A T g R el ar
fafew @ =1 @ &, fafew S @9 g
@ W 7

(a) WY e
(b) o o IHIEH
(c) v FETE g
(d) o TWo TS
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70. T ¥ B @ B dEE F Fataw § ade

Fraa o &7

(@) WG TgHfa

(b) HEEE FHEER

(c) <% WY F HEMERE
(d) < |1 T YT

71. feF @A F R A Prafafes st & @

FH-T1 GE TE 87

(@) ¥RA & TY-89 5 iala fad ot =fs
H THET AER F A I 2R
waaa ¥ d9fva @ w1 TR T ¥
e T R

(b) Tt safes + Iuh 2fes wdaar @ dfg
@+ 1 IR fafy g wenfie wiwn &
AR & A =R

(c) e waam = =fE a9 yafE
e gr ghifea e s @ 2

(d) To Fo TYIET W W TST A §
I FATeE 4 9gFa 4 Ty B weg
e’ = e

72. U9 i Hifq F fews o=t F 9§ FefiRea

H | FH-91 FY9 FE T8 27
(@ 3 Tt =marem § vadfg 7d 8

(b) 3 Bt q& ARl W sy & v
gl

(c) 3¢ gMifse 3R anffs =g & deag
for st wan B

(d) 3% Ryges &N weEa P A dug
o < e R



69. Who

67. Which one of the following pairs of

Deccan Sultanates and their respective
regions is not correctly matched?

(a) Nizam Shahis Bijapur
(b) Barid Shahis Bidar

() Qutb Shahis Golkonda
({d) Imad Shahis Berar

68. Consider the following statements :

1. Under Akbar, the system of Zabt
was established over a large area
from Punjab to Awadh.

2. In the seventeenth century North
India, the system of Zabt lost much
ground to the system of Kankut.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

among the following warned
his colleagues that the Constituent
Assembly was British made and was
“working the British plan as the British
should like it to be worked out”?

(a) Somnath Lahiri

() B. R. Ambedkar

() Shyama Prasad Mukherjee
(d) B. N. Rau
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70. Who among the following fixes the date

of election of the Speaker of the
Lok Sabha?

(a) The President of India

(b) The Minister of Parliamentary
Affairs :

(¢) The Secretary General of the Lok
Sabha

(d) The Deputy Speaker of the Lok
Sabha

71. Which one of the following statements

about ‘personal liberty’ is not correct?

(a) State does not have the authority
to deprive any person within the
territory of India of his/her
personal liberty without any
rational basis.

(b) Basis of depriving a person of
his/her personal liberty must be
in accordance with procedures
established by law.

(c) Personal liberty can be secured by
the judicial writ of Habeas Corpus.

(d) The majority view of the Supreme
Court in A. K. Gopalan vs. State of

Madras case invented ‘due process
of law’.

72. Which one of the following statements

with regard to the Directive Principles

of State Policy is not correct?

(a) They are not enforceable in a court
of law.

(p) They can override
fundamental rights.

(c) They can be related to social and
economic justice.

all the

(d) They can be related to giving free
legal aid.

[ P.T.O.



73. WG % Hfaum 6 R F ey § FreafaRaa 76. Tl wis fRmata ¥ #, ©F gemer s o

FoEl § | BH-91 wE TE 27 TG W 40% H g2 T 1 W € 2,000
G sifra EQ H F=E W 25% I wA
TR F ¥ ‘uf T a5
5 mﬁg'ﬁqﬁml " sarit vt #1 Frffea 3 @ v w1 @
w1 87
(b) Ffew # wwa F wwE A @ G o
ffea 21 (@) € 1,800
(€ SR, I-am, FR JEem 3§
Y1 T8 R (b) ¥ 1,200
(d) I=m ArEEd 3 AfvRuifa fe & (c) € 1,600
&l W SR v, 9l dfeum ¥ fafte
Fd=m 3 vems & w9 4 i w fAEn (d) ¥ 1,400
& forn s g ®)

74. W@ % Tl ¥ Pt ¥ R Ratewm 77. TS 3R 9% foan ) ofgm ag 45 af 31 IR
(R Fiew) # frefiea # A # it T % o i qm B g T oo W
&7 HA9: A AR AT IR, DA F 7@ hi oy
1. g v & o+t faffae gea et &7

W™
3. UA 6 faum-uftg & ot wew () 90 =9
e o e 52 B T W @ s g (0 817
(@) 132 |
) 233 (d) 84 ad
(c) 9 3
(d) Fad 2 78. 98 WA @& F=1 8, R 10000 Sed w

WTH W& 20, 24 AR 30 A favrsg A7
75. A, B ¥R C I ®9m: € 7,000, ¥ 8,000 3k
¥ 12,000 fam % =HaEE R R o (@) 120
9§ 9., B # 3uh R F am ¥ ¥ F

800
¥ 3,200 firet | Ft Fober @ gam? &
(a) ¥16,600 (b) ¥10,000 (c) 80
(c) ¥21,600 (d) ¥10,800 (d) 83
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73. Which one of the following statements

with regard to the Preamble to the
Constitution of India is not correct?

fa) The term ‘Secular Democratic

Republic’ was not there in the

Preamble originally.

(b) The Preamble contains the basic
structure of the Constitution of
India.

() By itself, the Preamble is not
enforceable in a court of law.

(d) The Supreme Court has held that
the Preamble cannot be considered
as an aid to the legal interpretation
of the Constitution, where the
language is ambiguous.

74. The Electoral College for electing the

President of India does not include
which of the following?

1. All elected members of the Rajya
Sabha

2. All elected members of the
Legislative Assemblies of States

3. All members of the Legislative
Councils of States

Select the correct answer using the code
given below.

(@) 1 and 2

(b) 2 and 3

fc) 3 only

(d) 2 only

75. A, B and C start a business by

investing ¥ 7,000, ¥8,000 and ¥ 12,000
respectively. After a year, B gets ¥ 3,200
as his share of profit. What is the total
profit?

(a) ¥16,600 (b) ¥10,000

) €21,600 (d) ©10,800
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78. The

76. In a stock clearance sale, a shopkeeper

gives 40% off on all his items. He incurs
a loss of 25% by selling an item of
marked price ¥2,000. Which one of
the following is the cost price of this
item?

(a) ¥1,800

(b) ¥1,200

(c) ¥1,600

(d) 1,400

77. The average age of Raj and his father is

45 years. If the ages of the father and
the grandfather of Raj are respectively
two and three times that of Raj, then the
age of Raj’s grandfather is

(a) 75 years

(b) 90 years

(c) 81 years

(d) 84 years

smallest number which when
added to 10000 becomes divisible by
20, 24 and 30 is

(a) 120

(b) 800

(c) 80

(d) 83

[P.T.O.



79. WA e fEh Ao == rﬁf‘ﬁ1+g+§%l
afe At § 20 e, @ AR W Iww
Frafafas & & fres auar 27

(@ 1360

(b) 1450

© 1500

(d) 1560

80. COVID ¥i= % fygmm w15l & wm & &

Pm-fm adgl @1 frds w= w9 1 v
44

(@ 60
(b) 150
) 100
(d 120

81. yaEnd 3R wemd % FHU BN TN AUH Tog

frffaa 3 & fraa sifirasm 27
(a) 3HTA
(b) TR
(c) T&I&
(d) T

82. Frurl #t Wiewe A ¥ fog wds of ga &

Hen ¥ vEd WHR g0 AiftE i 9 areft
HTa F 1 FEd 87

(@) T e
(b) Fim Hrm
(c) =™ T
(d) 3@ Fafe fma
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83. TEI, AR (), ¥F i =y i § )

Torweht gravfir (cfeey) frdrward #7
(a) &

(b) T

(c) E-TER (M)

(d) A

84. IvFfEd™ auiadl & day ¥, frafafas § A

FH-Y 9 A §7

1. Iwad awial 6t gar i s
Bt R

2. Twfy  weweff R}, fwd @
THE-EYANY UfE ad-sR Sad wd
2l

3. IR ‘34 TN A=SIRE T’ % w9 A
aftfa foram &)

4. 3 s IAes  qf-snuifa
uiffeufas @ &

= o T g2 w1 wEm = wd I ghu
(@) Faa 2 iR 4

() Fa 1, 334

() Faa 1,233

(d 1,2, 334



79. Suppose the nth term of a series is
2
1+g+%. If there are 20 terms in the

series, then the sum of the series is
equal to

(@) 1360
(b) 1450
¢ 1500
(d) 1560

80. How many different words, with or
without meaning, can be formed by
using the letters of the word COVID?

(@) 60
(b) 150
(c) 100
(d 120

81. The widespread deaths due to starvation
and epidemics are the characteristics of

(a) famine
(b) poverty
(c) civil war

(d) malnutrition

82. The price declared by the Government
every year before the sowing season
to provide incentives to the farmers is
called

(a) buffer price
(b) issue price
(¢) minimum support price

(d) fair sustenance price
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83. Caves, arches, stacks and stumps are

the landscape features of which one of
the following?

(a) River
(b) thave
(c) Limestone

(d) Wind

84. Which of the following statements about

tropical rain forests are correct?

1. The soils of tropical rain forests are
quite infertile.

2. The \vegetation is evergreen,
enabling photosynthesis to take

place year around.

3. They have been described as
‘deserts covered by trees’.

4, They are most productive land-
based ecosystem. !

Select the correct answer using the code
given below.

(a) 2 and 4 only
(b) 1, 3 and 4 only
(¢) 1,2 and 3 only

(d 1,2, 3 and 4

[ P.T.O.



85. fi=fafaa # @ fem gar 4, w=w 6 7o @

it Bt & % 39 &6t & T v B e
HTh FURY THE W T sman &7

(a) Fewa g
(b) Vg T
(c) W& T

(d) T=Ja

86. ¥FW ¥ ar A, Frafafean wudt § & ¥}

@ &

1. 1560 % 39 ¥, 3{HaX A HH F1 Fwen
A

2. 1570 % <% #, It A FaweQ A
% 7§ Teart s o fofg form)

3. 3@ 3 Hiwh 3§ @ welm ot & w¥ve
O % Aehat o1 Fmior off wrw e

4. 1585 ¥, 3R I AW AP H TG
THiaRa w0 F ok foram)

= fon T g2 # v W wd W g
(@ 1,234
() 1,233
(c) 2, 334

(d) Fa@ 334
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87. fasm R ¥ s % 4R #, Fefifag s

# & PA-J v {7

1. 3mEEs s i & e T e
TR IR F % forg -8 Ry 9

2. I A F aed ¥ o % d=Ea ¥
W@-w@E F e ft 3R T e e
e 1)

3. 3 fiuifa =g o weft w@w )

4, 3TN F TMF YA W A9 o i
I @l soiR ¥ foe =afra w9
¥ IER F WY TEER § T B
Of

= e T g2 w1 wEm W gd W ghv)
(@ Fa@ 1,233

(b) Faa 1, 33 4

(c) Faw 234

(@d 1,2 334

88. fr=fafea # @ F9-w/8 7w v w9 A gAfem

?/&?

1. e sEEm @IS PiaTe™
2. mﬁm : ?ﬁﬂﬂﬂ?ﬁ
3. WO d@eE  : Bee M

T e T F2 w1 wEm W " 3w ghu)
(a) Faa 1

(b) Faw 13w 2

() Faw 2 iR 3

(@d 1,233



85. In which one of the following soils, the

salt content is so high that common salt
is obtained by evaporating the saline
water in some areas?

(a) Peaty soil

(b) Alluvial soil

(c) Laterite soil

(d) Arid soil

86. Which of the following statements about

Akbar are correct?

1. In 1560s, Akbar had the Fort of
Agra constructed.

2. In 1570s, Akbar decided to build
~ anew capital at Fatehpur Sikri.

3. Akbar also commissioned a white
marble tomb of Shaikh Salim
Chishti at Sikri.

4. In 1585, Akbar decided to shift the
capital back to Agra.

Select the correct answer using the code
given below.

(@ 1,2 and 4
(b) 1,2 and 3
(c) 2,3 and 4

(d) 3 and 4 only
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87. Which of the following statements

about Amaranayakas of Vijayanagara
are correct?

1. The Amaranayakas were military
commanders who were given
territories to govern by the Raya.

2. In lieu of their service and also
to maintain their contingents, they
were paid in cash.

3. lnhey maintained stipulated
contingents and elephants.

4. They used to send tribute to the
king annually and personally
appeared in the royal court with
gifts to express their loyalty.

Select the correct answer using the code
given below.

fa) 1, 2 and 3 only

(p) 1, 3 and 4 only

() 2 and 4 only

d 1,2,3 and 4

88. Which of the following pairs is/are

correctly matched?

1. Permanent Settlement: Lord

Cornwallis
2. Ryotwari Settlement : Thomas
Munro
3. Mahalwari Settlement : Holt
Mackenzie

Select the correct answer using the code
given below.

(a) 1 only

(b) 1 and 2 only
(c) 2 and 3 only
(d 1,2 and 3

[ P.T.O.



89. T ¥ frua ReteR # =@ F @A THF F

® # WG Wh A5m-36-geh TEEeR
#1 31y urw Hi?

(@) Faad @H
(b) EIG ;e
(c) ehadi @™
(d) fam forefe @m

90. fFi =afts i fr=ffas g@ st & @

FH-91 Y 7t foan mn 27

(a) & & Iy F fow & ¥ aIftE SR
fieT @R <2 & faeg @

(b) 9 e sIfimsm & guda & weg &
¥ H A F-0@ H T A ¥ IR
A

(o) T A foeg weft & w9 & &1

(d) et sy & forg Sfig 7€ sse s
F1 AR, 59 7% 5 3@ T FE
A F UG, S WY F ¥4 F JRNG
2, forelt wam fafy =1 arfesemon =i fomm
?

91. Wid & ®faum # f=fafaa # 4 e fem

(a7) % fore vl U= T #1 T
A T AU TE 87

(@) TR G=EEE

(b) T TREg
() TR fm

(d) &l q=E
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92. fF=fafEa sew W few Hifsw

“26 saEfl, 1950 F TW Aafdudl A uf@
Sffeq § W39 w1 W@ | UsHi # g 9
Al BFf au g e e sfaa |
TAR 9 rEEEa g

T8 I 3 A Fohm a1 w1 7

(@) wETEH L

(b) TS g

(c) o IWo I

(d) |y wrfed

93. WA % UEyfa # Fr=fafaa wfwdl § @ FR-d

TeH TE i T8 B?

(@) wamER $ Fghe

(b) e % FFf wew i PAda A daftm
ot w7 W 39 foe @ faofg &

© T W =fs | gm-am I RR
JT-ITed g afea fora R

(d) 3= =ETed & R = = gem

94, A7HT T FAM YRA §9 F4, 1978 F Gay A,

frfefaa el # | F9-w o i 27

(@) & Fofa fem mn f6 ag=de 10 3
FFWE 21 IUfEdHE (ST
FEHL) TE 2

(b) & Tlg e mn & =8 21 #
Fafde I8 fafy, sg=ag 19 Hit smamed
I Gge TE wdt g1

() T fasmm & femonds sifigs &
o, vaama 7 g 2

(d) T3 21 F @@ gm (Shem) &
HftR #, gy 1 e it 7€ R



89. Who among the following assumed the
title of Nizam-ul-Mulk Asaf Jah to set
himself up as an independent ruler
with his base in Hyderabad?

(a) Kartalab Khan
(b) Bahadur Shah
(c) Alivardi Khan

(d) Chin Qilich Khan

90. Which one of the following fundamental
rights has not been provided to a
person?

(a) Protection against prosecution and
punishment for the same offence
more than once

(b) To refuse to give his/her sample of
handwriting as evidence to support
a prosecution against him/her

(c) To act as a witness against
himself/herself

(d) Right not to be convicted of any
offence except for violation of a law
in force at the time of commission
of the act charged as an offence

91. The Constitution of India contains
no provision for the constitution of
municipalities in every State for

(a) a Nagar Panchayat
(b) a Municipal Council
(¢) a Municipal Corporation

(d) an Urban Panchayat
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92. Consider the following quote :

“On the 26th January, 1950, we are
going to enter a life of contradictions.
In politics we will have equality and in
social and economic life we will have
inequality.”

To whom among the following leaders is
this quote attributed?

(a) Mahatma Gandhi

(b) Sarojini Naidu

() B. R. Ambedkar

(d) Somnath Lahiri

93. Which one of the following powers has

not been conferred on the President of
India?

(a) Appointment of Prime Minister

(b) To decide at his/her discretion any
question regarding disqualification
of a Member of the Parliament

(c) To grant pardon to a person who

has been punished by a court-
martial

(d) To remove a Judge of the High
Court

94, Which one of the following statements

with regard to Maneka Gandhi vs.

Union of India case, 1978 is not correct?

(a) 1t was held that Article 19 and
Article 21 are not watertight
compartments.

(b) It was held that a law coming under
Article 21 may not satisfy the
requirements of Article 19.

(c) A fair trial eliminates the biases
against the accused in the trial.

(d) The right to life under Article 21
does not include the right to die.

[ P.T.O.



95. TH HMAR AT T¥Gel W FHW: 10% iR 98. af fFf F@n #1 35%, I TEm ¥ 27% A
5% 1 31 HiAH G2 31 8| TEF qQ T@ AT 416 iy 2, A 98 wE @
T H Fa 7 20% Mo THo Ao Sga

21 7Rk freht g =1 siftha gea @ 2,000 2, @ 1
Tew ) g ) STt hi @ P s o 90
71 FH FHd FHE 2l7 (c) 3900

(d) 3328
(a) 2:6% FH

99. ¥Nd #, FewH vaIfedl # F=fafes § @

(b) 2:6% it el SEen % w9 & T S 27
(c) TR Em (@) i =@

(b) Torsh vt
(d) 52% 3fas® (c) = vt

(d) ufindt =2

96. Tl wifyt W 2 ad F forg 5% H arfis =
R FHgie W IR HER W F W= H 100. TH A -1 & gim Hfg A

€ 250 F1 W B | T@ g 70 B7 i@ & R Ry g 52 w1 wEm W gl W
3 :
(@ € 1,00,000 o "
(b) € 80,000 (e ) ()
A. Hagst 3
(¢ ¥ 40,000 b 3l
B. i 2. SR
(d) ¥ 1,20,000 fans e
D. S9d 4. fayg
97. 75 ml 3fehied A fFaa si@1 fremn s =nfeg e :
i fasor & stepiea it w1 25% B SC? bA. B et
R R e
(@ 100 ml o S
R o
(b) 225 ml
{(c) A yBeLBGLOD
(c) 250 ml 4. BTSNy
&.-A R CSED
(d) 125 ml & i G oail
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95. A shopkeeper gives two consecutive 98. If 35% of a number is 416 more than

discounts of 10% and 5% respectively 27% of the same number, then the
on his items. He then adds 20% GST on number is

his items. If an item has marked price

#2,000, how much more or less of fo - 8a00

the actual price of the item a customer (b) 2600

has to pay? (c) 3900

(@) 26% less (d) 3328

(b) 2'6% more : :
99. In India, Cardamom Hills are regarded as
a continuation of the
(a) Eastern Ghats
(b) Mizo Hills
(c) Naga Hills

(c) Same price

(d) 52% more

96. The difference of compound interest and (d) Western Ghats
simple interest of a sum of money at

the rate of 5% per year for 2 years is ; 3 )
#250. The sum is - 100. Match List-I with List-Il and select the

correct answer using the code given

(a) ¥1,00,000 below the Lists :

List-I List-IT
(b) ©80,000 (Tributary) (River)
(c) €40,000 A. Sutlej 1. Yamuna
B. Kosi 2. Brahmaputra
(d) ¥1,20,000 C. Teesta 3. Ganga
D. Chambal 4. Indus
97. How much water is to be added to 75 ml Code :
of alcohol so that the mixture contains
25% of alcohol? @IFwn B oS0 D
1 3 2 4
(@ 100 ml DhiNE < B G D
1 2 3 4
225 ml
) = AT D
(c) 250 ml e T T
(d A B & D
(d 125 ml #7923 Y
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101. wRa # Frafafas & ¥ F9-a1 w7 W

27

(a) FotE (dega)
(b) A

(c) eI

(d) REY

102. Frafafaa % & SW-d weeae 7 T 27
(@) TH
(b)
(c) =@
(d) w=g

103. T TiEET # T TR F WY-GY GoF W
9o Al waifus Wil 5gH, fFe geR ¥ s

¥ sieia e 7

(a) Toe@ wR (diemm die)
(b) T wR (TEivE @)
(c) TEH ¥R (WeeTH wIe)
(d) O VR (3 i)

104. v #i 38 F fou Frafafea # A B gest

# EEFHar Bt 27
1. 3E Sid
Frie fooen waw 5@

2, |
3. wEHW-HYeNw % fore w i -y
4. 23 °C ¥R 25 °C 499H ¥ = &

F 5 (i a7R)

2 T g2 F wEm W Ed sw gh

(@) %aa 1, 334
(b) Faw 2, 3 3R 4
(c) Faw 1 3R 2
[d 1,2 334
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105. femrdeh wel 1 HueH F arell Gag7 U,

geeft it form wa F rd ST &7
(@ ¥78

(b) =

(c) <& HS

(d) Al wig

106. F=fafaa woFl W R #iftm .

1. WA R § weeEE vghEl % b
F FO FEE Wesed iR EwEm
AR % Agd § 1934 F FHG Wi
aiEi Hi Hfa ug

2. 1936 #, VAEEE AE® 4 FOW ¥
FHNER H 9 @ F wY N R
0 a1 Rt ok afte =1 A g =
e

ST FoAt § A FA-w1/A whH 2/R7
(@) Fad 1

(b) e 2

(c) 1 3R 23

(@ Fd13RTd2

107. ¥R¥ #, WRd ¥ MSW F@ F WA vEEd

WA @ (e Rm) wifts 0 1 WeA
o1 917

(a) T % fou siawet oo % w9 §
HH M

(b) Tafen ¥ hi smavawHa : @ =@
(c) SPTEl § TR ciehe! WTH HE
(d) ¥R Famw (SeiEm) wfta s



101. Which one of the following is the only

riverine major port in India?
(a) Mormugao

(b) Deendayal

(c) Kolkata

(d) Paradip

102. Which one of the following is not a desert

river?

(a) Barak

(5) Rupen

(c) Banas

(d) Machchhu

103. The heaviest rocks, which are rolled

along the river bed in river transport,
come under which type of load?

(a) Solution load
(b) Suspension load
(c) Saltation load
(d) Traction load

104. Which of the following factors are needed

for the growth of corals?
1. Freshwater
2. Clear shallow salt water

3. Plenty of sunlight for photo-
synthesis

4. Warm water between 23 °C and
25°C

Select the correct answer using the code

given below.

(a) 1, 3 and 4 only

(b) 2, 3 and 4 only

() 1 and 2 only

(d 1,2, 3 and 4
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105. Convection currents, which move the

tectonic plates, are found in which layer
of the earth?

(a) Crust
(b) Mantle
(c) Outer core

(d) Inner core

106. Consider the following statements :

1. The growth of socialist tendency
in the national movement led to
the foundation of the Congress
Socialist Party in 1934 under the
leadership of Acharya Narendra
Deva and Jayaprakash Narayan.

2. In 1936, Jawaharlal Nehru urged
the Congress to accept socialism
as its goal and to bring itself closer
to the peasantry and the working
class.

Which of the statements given above
is/are correct?

fa) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

107. Initially, what was the purpose of

setting up of the hill stations during
the colonial period in India?

(a) To serve as winter capitals for the
British

(b) To serve the needs of the British
army

(c) To source timber from forests

(d) To set up sanatoria

[ P.T.O.



108. T8 A $H ud |1 F HEIgE A7

(@) FETHEA T
(b) F¥E IR 8
(c) THTHT =

(d) T FAR &

109, 1741 3R IRfys 1841 s & fF=fafEa

w1z fram et % ar & fEm fifvw
1. = foe

2. T IM AR
3. ke W
4, A R

frafafas & & 3w Jaedt =1 wdt Fem
HE-|1 87

(@) 3-2-4-1
(b) 1-2-3-4
€ 3-4-1-2

(d) 2-3-1-4

110. Fr=fafaa wie w@dt 4 @ =19 frjo wie wman @

Hag 7t 27
(a) FER
(b)

c) <]
(d) =4
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111, " Foft s w7 fRm R, . el

2021 % F21 917
(@) wEetE

(b) =W

(c) ¥R

(d) weEE

112. [ 2021 #, 79 & & i 7T E-100 YA

TfEe (TEee Weee), frefafea d @
Tora Icaea @R foraor & deftm &7

(a) Hfee Aad
(b) T

(c) Terga-amea
(d)

113. fag wfam fR@w, 2021 F =W W,

freafeafaa & @ R wra & wfa sam =iftm
frr mn 27

(a) TEEFT
(b)
(c) Teq-&ran

(d) o



108. Who among the following founded the 111. Volcano Mount Merapi, which erupted in

Dharma Sabha? January 2021, is situated in
(a) Krishna Mohan Banerjee ;
(a) Thailand
(b) Keshab Chandra Sen
(c) Radhakanta Deb (b) China
(d) Akshay Kumar Datta (c) Indonesia
109. Consider the following Jat peasant SRRk
leaders of 17th and early 18th
centuries :
1. Badan Singh 112. E-100 pilot project, launched in Pune in

June 2021, is related to the production

PSSt and distribution of

2
3. Gokula Jat
4

Churaman Jat (a) COVID vaccine
Which one of the following is the correct (b) ethanol
chronological order of the above
leaders?

(c) electric vehicle

i (d) ethane

(b) 1-2-3-4

(©) 3-4-1-2

(@) 2-3-1-4 113. On the occasion of the World

Environment Day, 2021, which one of
the following was declared as a National

: R S Park in India?
110. Who among the following Bhakti saints

did not belong to Nirguna School of

Bhakti? (a) Raimona

(a) Kabir () Orang

(b) Nanak

() Dad (c¢) Dibru-Saikhowa
c adu

(d) Chaitanya (d) Nameri
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114, SHEIR Aoy 6 amean (difen sifenm) |

weivd faare ¥ ar B9 i 2w e,
2021 FER M A T A P w2 &7

(a) HH TH
(b) uG faferag
(c) T EAEA

(d) T3 ST

115. R 91 g0 A Pt amed | 9 ¥

foe @a1 & wfiifera g o ¥ g fFa 3w
¥ ymw fig g &7

(a) q\o THo To
(b) ¥9
c) TEA

(d) <TIH

116. &8 W g wwa@ A%d (Tauktae)

R TR T an?
(a) WiEEE
(b) TR
(c) WA

@ &
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117. G-1 1 -1l § 919 gafa At aik

gt & § Ry T g w1 o W Al
EGLE
-1 -1
(wifas-19 (et weelt ¥R
=1 aftiz) TEAHT TAT)
A. ITEH 1. WRa
B. dia 2. wHE
C. 7T 3. fsm
D. & 4. =figor st
HE
(@ A B C D
3 4 ru gl
&) A BB D
g »ogpiiclayil o3
B XTSRS BV
T ERR e B

R BT

118. YA q2&H T2 T9dl SEes G 1 i

Frafafan & & s gm0 fen mn, Rma
SEEa 7§ 2021 H g7

(@) wed st froand fafies
(b) Tad wA R fafiee
(c) uod fegeam fimad fafies
(d) TEd Tan g fafes



114. Who among the following has withdrawn
Tennis

from the French Open
Tournament, 2021 in second
after controversy over
obligations?

(a) Coco Gauff

(b) Serena Williams

(c) Ana Bogdan

(d) Naomi Osaka

115. Heron drones, inducted by

round
media

Indian

forces for enhancing their surveillance

capabilities, are acquired from
(a) USA
(b) Russia
Israel

(c)

(@)

Japan

116. Cyclone ‘Tauktae’ was named by
(a) Maldives

(b) Myanmar

Oman

(c)

Iran

(d)

JNMK-F-BGS/67A

117. Match List-I with List-IIl and select the

correct answer using the code given
below the Lists :

List-I List-IT
(Variant of (First identified in)
COVID-19)

A. Alpha 1. India
B. Beta 2. Brazil
C. Gamma 3. Britain
D. Delta 4. South Africa
Code :
(@ A B C D
3 4 2 1

g A 2B e D
e O

AL SR T
P ou e ) (N
DAl G D
2o R el |

118. Indian Coast Guard Offshore Patrol

41

Vessel ‘Sajag’, which was commissioned
in May 2021, was constructed by

(a) M/s Bharati Shipyard Limited

(b) M/s Cochin Shipyard Limited

(¢) M/s Hindustan Shipyard Limited

(d) M/s Goa Shipyard Limited

[ P.T.O.



119. 38 ¥ #4 wra # ufEdl & (Sfeee Ffes)
F W ied fadw wfufa ¥ swg 2, fm
affe 3 Te @ & 7ot fave wega 1 RY

(@) FHo dlo FWH
(b) A T

(c) Fo THEFY
(d) e ai@

120. F=fafEs # @ fFe wsa = Aifa (N STEm
T o sunfe fem 9 sfewm =,
2020-21 F wom = firen 7
(@) feam=e wem
(b) ATy
(c) T
(d) T

121. F=fafas § @ =9-w 49 wemm REE,
2021 % fawg (fm) 27

(@) WUV FEETR % fog Tawads
(b) ETETR : e I S
(c) <= 3R WEEIR

(d) TR HEETRI i THE

122. 7d7a9 Wiser (Chandler) T TaHe 32T
(dio fio Sflo M) ¥ WRA FN FH-T WH
W g ®, S R wme R aRom %
g § 104 A F Ffiga Fan 27

(@) 49df
(b) 593t
(c) 69af
(@ 793t
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123. T & #, o THo 3@o FARo-Tde Hio To

T % AWiE A 9Ra FER F fagm sir
Tefieft fasm (e we o) A wa
Tl wa ¥ weEm ¥, ghmo ik
wWREH e W F4 F g afima
i TRl fowfm f 2 @ i
dranfieft 1 W = 27

(@) AFATER
(b) TR
(c) 3T Femia
(d) wgEs Fera

124. fr=faflaa & @ B feew =t 679 g feen

TR (FARE), 2021 # w@iaw e Aof
# gdaE fhen ger faen?

(@) ST 63T
(b) aTEEE FAlEH
(c) Tl 3T

(d) UFar—g A alet

125. Frefafas gl # @ fRl 2021 @A g

qRR &1 T =ifta e mn?
(@) U2 ATEE A =TS 5 =1F
(b) 7 35 ATH WET 37 a8
() 37 e g el T acs

(d) T aR 3ATH T IR



119. Who among the following was the Head

of the Expert Committee on Variable
Capital Company in India which has
submitted its report recently?

(a) K. P. Krishnan
(b) Ketan Dalal

(c) J. Ranganayakulu
(d) Bobby Parikh

120. Which one of the following States ranked

first on Sustainable Development
Goal India Index, 2020-21 released by
NITI Aayog?

(a) Himachal Pradesh
(b) Tamil Nadu

(c) Kerala

(d) Goa

121. Which one of the following is the theme

of the World Ocean Day, 2021?

(a) Innovation for a Sustainable Ocean
(b) The Ocean : Life and Livelihoods
(c) Gender and Oceans

(d) Clean Our Oceans

122. In the latest Chandler Good Government

Index (CGGI), which classifies 104
countries in terms of government
capabilities and outcomes, India has
been ranked

(@) 49th
(b) 59th
{c) 69th
(d) 79th
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123. Scientists at CSIR-NCL Pune, with

support from the Water Technology
Initiative of the Department of Science
and Technology (DST), Government of
India, have recently developed a novel
hybrid technology to bring safe and
healthy drinking water. What is the
name of the hybrid technology?

(a) SafeWater
(b) SWASTIIK
(c) Arsiron Nilogon

(d) Fluoride Nilogon

124. Which one of the following films has won

the Best Film Award in Environment
Conservation category at the 67th
National Film Awards, 2021?

(a) Jonaki Porua

(b) Wild Karnataka

(c) Water Burial

(d) Ronuwa—Who Never Surrender

125. Which one of the following books

was declared winner of the 2021
International Booker Prize?

(a) At Night All Blood is Black
(b) The Dangers of Smoking in Bed

() When We Cease to Understand the
World

(d) The War of the Poor

[P.T.O.
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